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Parallelograms Extra Practice

Topic/Assignment I CAN statement Turned in?
Properties of Parallelograms 1) I can find the missing angle measurements Yes No
Properties of Parallelograms 1) 1 can find angle and side measures in parallelograms.

Yes No
Properties of Parallelograms 1) | can use properties to prove quadrilaterals are
parallelograms. Yes No

Properties of Parallelograms

Objective: To use relationships to find sides and angles in parallelograms.

1: Points P, Q, R, and S are the vertices of a quadrilateral. Determine if the quadrilateral is a parallelogram.
Show all work.

a) P(1,0),0(1,2),R(6,5),5(3,0) b) P(2,1),0(6,1),R(5,8).5(3,8)
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C. Determine whether the figure with vertices A(3,3), B(8,2), C(6,-1), D(1,0) is a parallelogram.

To be a parallelogram, you must test for OQ %IC\Q\S // (SO/M § ]me 33
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. D. Determine whether the figure below is a parallelogram.

( To be a parallelogram, you must test for Q‘Q : «St CL& S / / (/ «S g (5 / Dﬂ&)

A(—1, —5), B(—3, 0), C(2, 2), D(4, 3)
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2. ABCD is a parallelogram. Find x, y and the perimeter. Show your geometry and justifications for all steps.
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5. Complete the statement and justify your reasoning.
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—

a. JK= Ll l because (\C\)S\(&QB 0&0_ ’IDAA(} aad

b. MN = Nk because d\(}i})& O.& (_\A?a/{a bisect eacn
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6. LMNQ is a parallelogram. Find the measures and explain your reasoning.
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Directions: ABCD i parallelogram Show your geometry and what property or properties you used to help
you answer the question.

7. Pperimeter ABCD = 8 L 8. AO=11,and BO=7.

AC= 5, BD = “’l
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Determine whether the figure below is a parallelogram.

To be a parallelogram, you must test for D_F fi1des // ( oMme S\@

13. .H(Q, 1), 42, 3), K6, 3), L(5, 1)
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Determine whether the figure below is a parallelogram.

To be a parallelogram, you must test for D\D . S1des // [ Same S l 4] @

14.  H(-1, 4}, J(3, 83), K(3, =2}, L(—1, =1)
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